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1. Saul and Gladys together had $100. After giving Gladys $10.00 he finds that he has $4.00 more than

g the amount Gladys now has. How much does Saul now have?
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a) $18.67
b) $20.00
) $21.00
d) $27.50
e) $35.00

c
) a+b

3c

b_
)a+b

c) 3c
d) 3c(a+hb)

e) 3c+a+b
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3. If 3 of the men in a factory go on vacation in July and > of the remainder take their vacations in

August, what fraction of the men take their vacations at other times of the year?
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4. If the temperature rises from 722 to 802, what is the percent of increase?
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